
Sec 9
.
5 Absolute Convergence & the Ratio Test

Yet A series
An converges absolutely

(i . e . the series is absolutely convergent)

if Caul converges .

Ex Is 5 (f) "absolutely convergent

Ans The corresponding sum of absolute

values is 15) = 5(),
which we know is convergent

because it's a geometric
series

with ratioI which is in [1 . 1).

So the series & [i) is absolutely convergent .

Theorem :

If a series is absolutely convergent, then it is convergent
.

If I (an) converges, then
An also converges.












